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BOTANY
(Honours Generic/Regular |
Paper - BOT—HG—QDIG/BOT-RC—2016

( Plant Ecﬂbgy and Taxonomy )
Full Marks - 60

Time Three hours

he margin indicate
Jull marks Jor the questions.

Answer either in English or in Assamese.

Write very short answer/Fill in the blanks -

1x7=7
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(a) Who coined the term ‘ecosystem’ ?
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(b) What is the status of bacteria in an

ecosystem ?

51 SR vre REBRAR SN fae
(c) Presence of sunken stomata is

adaptation.

OISTARI TG T S |

(d) The energy pyramid is always :
W& foafie s :

(e) Who is called the father of taxonomy ?

‘AR (AerTRE SgwRmN) 1 e I I
S TR

(/ Which system of plant classification is
followed in Indian Herbaria ?
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(g9 What is taxon ?

o CRICREE:

2. Answer the following : 2x4=8
were frat sz Te fra e
(@) What do you mean by ecological
pyramid ?
R Prifie amm & gee

(b) What is detritus food chain?

TR A *e4eA 2

(c) Write the importance of ‘Botanical
Gardens’.

Tfgw S=a’ wIws [{Emn o

(d) Mention the various groups or units of
classification in hierarchical order.
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Answer any three of the following :

o%x3=15

woTe FrarR farerner fofbre Bl 8

(@)

(b)

(c)

(d)

Describe the adaptations of xerophytic

plants.

e Bfewa e g A 4|

Describe the role of nitrogen cycle in

an ecosystem.

b1 A% oFe F13G 1 b gl 3¢ 71 |

Discuss the role of palynology in plant
taxonomy.

o BfEr Rame @IRMR SR T
D] 41 |

Describe the various stages of ‘xero-

sere’.

wERgETR ffen w1 T 3 @i
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(e) Give a comparative account of natural

system and phylogenetic system of
classification.
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Write briefly the influence of climatic factors
on the growth and development of plant.
10
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Define ecosystem. Discuss the different

pathways of energy flow in an ecosystem.
1+9=10
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Define succession. Describe the various
stages of succession in nature. 248=10
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